
© Copyright 2021

Key Learning: To add three one-digit numbers.

Y2 U2 L9 Independent Task

Original 

6 + 3 + 4 =

8 + 2 + 7 =

4 + 5 + 3 =

5 + 4 + 6 =

First I used the strategy _______________________

_____________________________________________.

Then I used the strategy ______________________

_____________________________________________.

First I used the strategy _______________________

_____________________________________________.

Then I used the strategy ______________________

_____________________________________________.

First I used the strategy _______________________

_____________________________________________.

Then I used the strategy ______________________

_____________________________________________.

First I used the strategy _______________________

_____________________________________________.

Then I used the strategy ______________________

_____________________________________________.

= 17+ +7
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Key Learning: To add three one-digit numbers.

Y2 U2 L9 Independent Task

Increased Support (Part One)

6 + 3 + 4 = 13

8 + 2 + 7 =

First I used the strategy of number bonds to 

ten. I added 6 + 4 = 10. Then I used the 

strategy of number bonds within 20 to add 

on three. 10 + 3 = 13.

First I used the strategy of number bonds to ten. 

I added 8 + 2 = 10. Then I used the strategy 

_____________________________________________

_____________________________________________.
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Key Learning: To add three one-digit numbers.

Y2 U2 L9 Independent Task

Increased Support

4 + 5 + 3 =

5 + 4 + 6 =

First I used the strategy _______________________

_____________________________________________.

Then I used the strategy ______________________

_____________________________________________.

First I used the strategy _______________________

_____________________________________________.

Then I used the strategy ______________________

_____________________________________________.

= 17+ +7



© Copyright 2021

Key Learning: To add three one-digit numbers.

Y2 U2 L9  Independent Task

Increased Challenge

6 + 3 + 4 =

8 + 2 + 7 =

4 + 5 + 3 =

5 + 4 + 6 =

Show how many different ways you can solve these equations.

7 = 17++
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Key Learning: To add three one-digit numbers.

Here’s the answer, what’s 

the question?

1𝟒

Y2 U2 L9  Independent Task

Challenge (i)

What three 1-digit numbers could be 

added together to make 14?


